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General Instructions :

Read the following instructions carefully and follow them :

(i) This questions paper contains 30 questions. All questions are compulsory.
(ii)  This question paper is divided into five sections — Sections A, B, C, D and E.
(iti) Section A — Questions no. 1 to 17 are multiple choice (MCQ) type questions.
(iv) Section B — Questions no. 18 and 19 are source based questions.

(v)  Section C - Questions no. 20 to 23 are Short Answer (SA) type questions.
Answer to these questions shall be written in 80 to 100 words.

(vi) Section D - Questions no. 24 to 28 are Long Answer (LA) type questions.
Answer to these questions shall be written in 120 to 150 words.

(vii) Section E — Questions no. 29 and 30 are Map based questions.
SECTION A

There are 17 multiple choice questions in this section (Q. No. 1 - 17).
All questions are compulsory. 17x1=17

1. Which one of the following factors is an economic factor affecting the
distribution of population in the world ?
(a)  Urbanization (b)  Soils
(c) Unrest (d)  Availability of water

2. Which approach of ‘human development’” was proposed by the

International Labour Organisation (ILO) ?

(a) Income (b) Welfare
(c) Basic need (d)  Capability
3. Read the following statements regarding objectives of family planning

and choose the correct option :

L. Control the birth rate

I1. Spacing the birth of children

III. Improving women’s health

IV. Reducing the death rate of children

Options :

(a) Only ]I, IIT and IV are correct. (b) Only I, IT and III are correct.

(c) Only II, IIT and IV are correct. (d) Only I, III and IV are correct.
64/1/1 3 P.T.O.
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(a) ™l 3cdred (b) 3TN 3cdTeH
(c) =T IedreA (d)  Hssit Ied1ed
5. TmafaRea # @ sH-a arfisy S0 Y w1 g8 o991 &7 7 2
(a) IO Ufgedt 30y (b) TSI &
(¢ —ISfcis & (d)  cferor qoff srieefern
6. R % HEY HHTARGd § € fohd TR I Y T §&T T @ ?
(a) THfa (b)  YHEHETHE
()  Hehrl (d " HiEh
7. Tmafafaa <o # 9 forueh Aa fosmE Yoo AT HaA & ?
(a) Wl (b)  Tled
(c)  Areeferam @ SHEh
8. Tr=fcfga et &1 tewem ST 3R w8} faereq 1 === IS .
HITI : AT o SThIRLT o H1Y GTHEAR hl - Fret & A1
[EERERIEIN
HYT II : IRUTTEEEY Ueh HAfId Aedesh o1 8 $etie & 9 § 9
ST 2 |
forhe

(a) hdd Ho [ TE B |

(b)  had %I I TE 2 |

(¢) A 19 IS dl &, heH I, e 11 Hal 9o g |
(@) HYF 19 IS Tal &, heH 11, A 1 Hal TN T8 & |

9. fo=falga 3 9 9-91 998 & yfdeny e 9 gafid @ ?
(a)  TTepldeh fougmy

(b) I STy
(c)  Sfted 3 gufd i geam

(d) i 9 TR

10. THAfEgd TSI 6 | fohEehl 2001 8 2011 3 & H SIEEAT Iig & HAMh @ ?
(a) W (b) AT
() Tuosmm @ fafem

64/1/1 4

Previous Pathshala




4. Which among the following is related to ‘truck farming’ ?

(a)  Fruits production (b)  Grain production
(c) Tea production (d)  Vegetables production
5. Which among the following is the largest region of ‘commercial dairy
farming’ ?
(a)  North Western Europe (b)  Canada region
(c) New Zealand region (d)  South Eastern Australia
6. Fodder crops are an important component of which among the following
types of agriculture ?
(a)  Mixed (b)  Mediterranean
(c) Co-operative (d)  Collective

7. Which one of the following countries has the highest rank in Human
Development Index ?

(a) Germany (b) Sweden
(c) Australia (d) Denmark
8. Study the following statements and choose the correct option :

Statement I: With the digitisation of information, telecommunication
slowly merged with computers.

Statement Il : It resulted in integrated networks termed as Internet.
Options :

(a)  Only Statement I is correct.

(b)  Only Statement II is correct.

(c) Statements I and II both are correct, Statement II is the correct
result of Statement 1.

(d) Statements I and II both are correct, Statement II is not the
correct result of Statement 1.
9. Which one of the following is related to push factor of migration ?
(a)  Natural disasters
(b)  Pleasant climate
(c) Security of life and property
(d)  Peace and stability

10. Which one of the following states has the highest population growth rate
during 2001 to 2011 decade ?

(a) Manipur (b)  Nagaland
(c) Mizoram (d) Sikkim
64/1/1 5 P.T.O.
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11.  3TYMHH YRAT WISl I S ITell i G631 o ITJAR IAUHhad d =4
TE! A dTcl faehed sl MU
(a) Y-, giag, 3iifede ua =fi--fosed
(b) Y-, 31ifeeeh, gfoeg va =fi-fosedt
(¢) gfae, IRdR-d, =ii-fasedt Ta e
d) gfes, s, WRAE-JUTE T =iH-fdssrd

12. Teu U gEmeEi i dfeu iR ‘Aeiiie dEeHr | weiud g8 fashed &1 wmE

HIT

I i S

IL. oo i qiH

1. gt it v

IV. =RE g

ICETE B

(a) HaAlFIITE R | (b) oA 1T I TS B |

) SHaAIITIVHRE | d FaAITIVEL T |
13. USiferad, US| IcUTSH Ud 3aehi ol UEUT ohid o ol ST T3 U &

(a) AR (b)  ®feqa

(¢) ISl (d) %ﬂ@ﬁ?
14. &y 1 o1 e @xy [1 8 Hifu 3 98t [aeneq &1 ==[ i

7wy [ 7wy I1
(3T 7Se) (F&IreT)

i, A dew 1. Taereuemg

11. S’%_c' @?K*f 2. ZATREIG/IATS

jii, O WA 3. BT

v, HRY Hd 4. FEAYL

IEETR I

(a) i-1,ii—2,iii—3,iv—4 (b) i-4,ii-3,iii-2,iv—1

(¢) i-8,ii—4,ili—1,iv-2 d i-2,ii-3,iii-4,iv-1
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11. Choose the correct option in order of number of people speaking modern
Indian languages from maximum to minimum :

(a) Indo-European, Dravidian, Austric and Sino-Tibetan
(b) Indo-European, Austric, Dravidian and Sino-Tibetan
(c) Dravidian, Indo-European, Sino-Tibetan and Austric
(d) Dravidian, Austric, Indo-European and Sino-Tibetan

12. Read the given resources and choose the correct option related to
‘community’s resources’ :

L. Village water bodies

II.  Village agriculture land
III. Village residential land
IV. Pasture land

Options :

(a) OnlyIand]II are correct. (b)  Only II and III are correct.
(c) Only IIT and IV are correct. (d) Only I and IV are correct.

13. The port designed to receive petroleum, petroleum products and
fertilizers is :

(a) New Mangaluru (b)  Haldia
(c) Kandla (d)  Tuticorin

14. Match Column I with Column II and choose the correct option :

Column I Column I
(Railway zone) (Headquarter)
1. North Central 1. Secunderabad
ii.  East Central 2. Allahabad/Prayagraj
ii.  West Central 3. Hajipur
iv.  South Central 4.  Jabalpur

Options :
(a) i-1,ii—-2,iii-3,iv—-4 (b) i-4,ii-3,iii—2,iv-1
(¢) 1-3,ii—4,ii-1,iv—-2 (d) i-2,ii—3,1i—4,iv—-1
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WY FAEY & YR W dorar (3N &1 wren &) § fFmf e w
U @ a9 O U dest & &Y H A L @& 2 | 98 94 Jhel & T19-91Y
- H fafia smgl, S T 9@, ges, MeR, wee, SR e I A
SITAT 8 | 98 Widay 379 9qh e H fUar o 9| T 20,000 WSl B | 3Hh gRI
Tol T 98 geerd: ek U, e Sl ¢@YTd, S 6l ugls, I W T
B 2 | F® 9 BN, I A wilic qon w0 & fmier, enfe w oft @< gid § |
T & YNGR o TEF-T81 ol & F1edeh &9 & U 2 |

15 99 UEd, BATd U 81 9 | INaR 98d & i aRfeufaal 8 Tor @
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T GHA, WY U4 e FO HhHA IcqaEAl H GwIled g1,
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el W T 20 Udfed shi Awigll W 6 7Ig deh M fohaT | 319 39 31e9 A H
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et S T R |
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FfcTiad 3 | HIF-|1 g8l o1 319 @ ?
(a)  JaTERT grT 9ST T O

(b) VST GRI AT T €4

(¢) Sarfaa g femam o @

(@  arfERn grn o e o
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Read the case study given below and answer . No. 15 to 17.

15.

64/1/1

Ramesh has been working in contract as a welder on a construction
site in Talcher (coal region of Odisha) for the last two years. He moved
with the contractor to various places like Surat, Mumbai, Gandhi Nagar,
Bharuch, Jamnagar and so on. He remits ¥ 20,000 per year to his father in
his native village. The remittances have been mainly used for daily
consumption, healthcare, schooling of children, etc. Part of the money is
also used in agriculture, purchasing of land and building of houses, etc.
The standard of living of Ramesh’s family improved significantly.

Fifteen years ago, the situation was not the same. The family was
passing through very tough times. Three of his brothers and their families
had to survive on three acres of land. The family was highly in debt.
Ramesh had to discontinue his studies after ninth standard. He was
further hard pressed when he got married.

Simultaneously, he was also impressed by some successful
out-migrants of his village who had been working in Ludhiana and
supporting their families in the village by sending money and some
consumer goods. Thus, due to abject poverty in the family and perceived
job promises at Ludhiana, he made a move to Punjab with his friend. He
worked there in a woolen factory for six months at the rate of only ¥ 20 per
day in 1988. Apart from the crisis of managing his personal expenditure
from this meagre income, he was also facing difficulty in assimilation to
the new culture and environment. Then he decided to change his place of
work from Ludhiana to Surat under the guidance of his friend. He learnt
the skills of welding in Surat and after that he has been moving to
different places with the same contractor. Though the economic condition
of Ramesh’s family at the village improved, he is bearing the pain of
separation of his near and dear ones. He cannot shift them with him, as
the job is temporary and transferable.

Which one of the following is the meaning of remittance ?
(a) Money sent by migrants
(b)  Money earned by migrants
(c) Money spent by migrants
(d) Loan taken by migrants
9 P.T.O.
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16. YNd T UL YaT8 1 T& SR 8 :

(a) e
(b) TR
(c) TITEY
(d 9

17. Tafafiga 8 @ sH-a1 Irv-T" Jam@ 1 T SHIfehh = Iiomy 8 2
(a)  Taed TS < SMURYT Gl T gad
(b) 3T TAA W AFAGU 1 AT
(c) 1Y Ud fom T § rEgeH
(d) 7T TIA W GERId T HH

Qs @

J97 GE&IT 18 U 19 Gld-3TeRT 597 & |

18. Tou U o17=s ®I =HYE® dfer 7R 35 = fCu MU wwAi & I foafew : 3x1=3

STe 319 SR 98d & 9 fohefl STeret i aATd & 7T 7Y IIHETEh Sieet
% 98 I 7 | -t oTaek ATal-fudr Iu=R o foTu STTueRl STETdTe o S
8 | faenme™m & stuent sreamus verd @ | feRelt oft foarg i feafa & it ™
Fohicl | o ATt 7 | $H TR ek FaHrE B & 9 B HI PTAE B T
I FATE YgH LA & | 37d: Gt JhR hi Hamd fafsrse hefd gt g S JiraH
& S U 't 8 | Eawey, fwem, fofy, wmmeR e wHARSH sewife @
ST AT ohl ETIhAT & | 31 A1 I 37 Agias FH AR
foraTeres ufStequr Y sTragerehdt il 8 TR ST 35 YUl SATadTReh S-1dT @ |
Jieh TShATehalTd TaT TFeX | HAfUd & | SHRIh a1 Hdel 1 T Hgw@qyl
Hh 3 Hch SR Ik ThAthatl 1 fvaTe $oral #ifieh, SATEETRS
gfte | giTiera foRivsl SR JmRierarsti g’y 8idl g |

anfeier ferepra s TRV 3raceneti ¥ <N o1 Ush ST 4T Tt deex
T Rl A AT | T Torpla srefedereen o Sgeeash Al qdraeh R |
TR 9Td & 37 3TU&Ieha W 9@l # TEdieeh St § $Ed 81d & |

(18.1) fgitaes Ta qefiaes fhamhaml § TH@ 3R ! T T | 1

(18.2) Feitareh fshamehetty fohe SRR Icuted TR fafwe g1 @ dafeq 8 2 1

(18.3) Tohgl < qaTeh ToRATRAITd 1 Ieci@ HITIT | é+é=1
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16. The main cause of rural-urban migration in India is :
(a)  Education
(b)  Employment
(c) Health
(d)  Tourism

17. Which one of the following is the demographic consequence of
rural-urban migration ?
(a)  Pressure on infrastructure at the place of destination
(b)  Shortage of labour at the place of origin
(c) Imbalance in age and sex
(d) Intermixing of culture at the place of destination

SECTION B

Questions number 18 and 19 are Source-based Questions.
18. Read the given passage carefully and answer the questions that follow : 3 X1=3

When you fall ill you go to your family doctor or you call a doctor.
Sometimes your parents take you to a hospital for treatment. While in
school, you are taught by your teachers. In the event of any dispute, legal
opinion is obtained from a lawyer. Likewise, there are many professionals
who provide their services against payment of their fee. Thus, all types of
services are special skills provided in exchange of payments. Health,
education, law, governance and recreation etc. require professional skills.
These services require other theoretical knowledge and practical training.
Tertiary activities are related to the service sector. Manpower is an
important component of the service sector as most of the tertiary
activities are performed by skilled labour, professionally trained experts
and consultants.

In the initial stages of economic development, larger proportion of
people worked in the primary sector. In a developed economy, the
majority of workers get employment in tertiary activity and a moderate
proportion is employed in the secondary sector.

(18.1) Explain the main difference between secondary and tertiary

activities. 1
(18.2) How have tertiary activities related both production and
exchange ? 1
(18.3) Mention any two tertiary activities. é +é =1
64/1/1 11 P.T.O.
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19.

T9 G 20 G 23 TG-3F0T G & |
“OTa R o el I SR @1 H THIH h W1 & TNkl 1 foaeh

20.

64/1/1

@ g TR T YD AT hIfoT IR IFeh F T T gl H IW

fafem
YRT — FRIFIT H1 Jgraat, 1901 - 2011
CL TR /AT | T e | $d SHEE | SR dig
Gl hl TE (BRI H) FT % (%)

1901 1,827 25,851-9 10-84 —
1911 1,815 25,941-6 10-29 0-35
1921 1,949 28,0862 11-18 8:27
1931 2,072 33,456-0 11-99 19-12
1941 2,250 44,1533 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,569,463 23-34 46-14
1991 4,689 2,17,611 2571 36-47
2001 5,161 2.85.355 27-78 31-13
2011 6,171 3,77,000 31-16 31-08

(19.1) wRA ¥ orE a9 # T SHEEA1 61 EhE Jhg Faiiess off ?

(19.2) T¥ 2001 H H& fohal T SHEET off ?

(19.3) a9 1901 € 2011 % Wed WA H TRI hl T § FoA TohaH1 Iig T8 ?

3X1=3

HETCTiga 97 @aeT GIEaTaa ghgniaal & g 397 &7 19 & 9 |

g/

Td ° T afeaat i 9

[ehral dl

()

o

o

Qug 1

7 Torroanat sl Tase hIfST |

S IR |” A o Tha1ehiUl < TGH H 8 HAT h1 Yoo I |

(@)

AAAT

ST TeATeh I |
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19. Study the given table carefully and answer the questions that follow : 3X1=3
India — Trends of Urbanisation 1901 — 2011
Year Number of Urban Population | % of Total Decennial
Towns/UAs (in Thousands) Population Growth (%)
1901 1,827 25,851-9 10-84 —
1911 1,815 25,941-6 10-29 0-35
1921 1,949 28,0862 11-18 8-27
1931 2,072 33,4560 11-99 19-12
1941 2,250 44,153-3 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,936-6 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,59,463 23-34 46-14
1991 4,689 2,17,611 25-71 36-47
2001 5,161 2,85,355 27-78 31-13
2011 6,171 3,77,000 31-16 31-08
(19.1) In which year was the decennial growth of urban population the
highest in India ? 1
(19.2) How much was the total urban population in the year 2001 ? 1
(19.3) How much was the total growth of number of towns between the
years 1901 to 2011 in India ? 1
Note: The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 19.
Explain any three characteristics of urban settlements in India. 3X1=3
SECTION C
Questions number 20 to 23 are Short Answer Type Questions.
20. (a) “Human beings were able to develop technology after they
developed better understanding of natural laws.” Evaluate the
statement in the context of naturalization of humans. 3
OR
(b) “The imprints of human activities are created everywhere.”
Evaluate the statement in context of humanization of nature. 3
64/1/1 13 P.T.O.
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21.

22,

23.

YA | a1 gig &l Tadl T (1951 — 1981) i SHEd faehie 6l 3afy
&% Y H I ST ST @ 2 hls dF deh et T shIfTT |

AT $ & foE ¥ ‘daq $Y & T Tsfa fime’ (NMSA) & 38931

o Hifsr |

(%) 9Ra i Serurafeadt Ter T’ @i 9t 6 @ foRarstt &1 Ieoa
ST |

AAAT

(@) YA Hi WAl g e 78 H T fomwarst w1 oo
SHifdT |

Qs Y

T G&IT 24 G 28 H-F70T F97 & |

24.

25.

26.

27.

28.
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(%) fowa 4 3 i Efedfa &l ywifad o el 99 Y@ HIEhI &I
freeryor i |
AYAT
(@) = AT W AU IT o affenor s foverur uier sfivert o Sfartd
HIfST |

“fova B It Ta AT yerdi & giagd o U qIEadrsal 1 sd9es ®9 8 RN
foma SITaT 8 1”7 3UYE dehl T 39 e < gfte Hif |

‘AT =R ol IRITYT HIfST | o T ‘STaiisda =R’ & @ TRl

U HIfTT | 142+2=5

“Sfqu el e HAM & T Had Ty faehE 1 d&g It i @ fo g
w9 o uifeufaeha gaa aieeiEdr e ¢ g |7 S8 %Y 1 Yodied
HIT |

() “WRd 1 HSH S Torvdl 1 GEU GH TS USH A 8 |7 §H HAA hH
gfte SHifu |
areraT
(@) “ard @ I fava & waifis a9 o e § 8 T 2 |7 39 HeH 6
gfte HfT |
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21.

22.

23.

Why is Phase III (1951 — 1981) of growth of population referred to as the
period of population explosion in India ? Explain by giving any three

arguments.

Describe the objectives of ‘National Mission for Sustainable Agriculture
(NMSA) in the development of Indian agriculture.

(a) Mention the main characteristics of the mineral belt of
‘South-Western Plateau Region’ of India.
OR

(b) Mention the main characteristics of mineral belt of ‘North-Western
Region’ of India.

SECTION D

Questions number 24 to 28 are Long Answer Type Questions.

24.

25.

26.

27.

28.

64/1/1

(a) Analyse five main factors affecting location of industries in the
world.

OR

(b) Analyse the classification of industries on the basis of raw
materials into five heads.

“Pipelines are used extensively to transport liquids and gases in the
world.” Support the statement with appropriate arguments.

Define the term ‘international trade’. Describe two types of ‘international

trade’ in the world. 1+2+42=5

“Attaining sustainable development in the Indira Gandhi Canal (Nahar)
Command Area requires major thrust upon the measures to achieve
ecological sustainability.” Evaluate the statement.

(a) “India has one of the second largest road networks in the world.”
Support the statement.
OR

(b) “Indian Railways network is one of the longest in the world.”
Support the statement.

15 P.T.O.
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el
T97 GEIT 29 T 30 FIHIGT STERT o7 8 |

29. TER & fqu MU ueHifos Wrumtes (98 21 W) § @a dimfores @e
%1 A,B,C,D,E, Faen G 9 fegrn man 2 | fpgl grer < ug=m Ffafiaa
STHHI hl "gEdl 8 hifce 3 39 g8 9 3 9E @i=l 18 W@l ®

fetfae 5x1=5
A. ITShIhT AT Tad §ST <

B. forega anforsar s iy &1 &

C. TG gl I

D. At afterET e

E. AU Iy ITH

F. ATELTTITS TRHGTEI {GHT h1 T UfTad =1 €I

G. Sfequr TR 1 o ST <

Fie:  [HEligd JeT F9c7 gIEETET Gheidat & 77 yo7 &1 29 & € W
g/
F=IRga 4 & [a-8] aier 5941 & I G670 : 5x1=5
(29.1) 3TShIehT T HaH &< ¢ HI-HT & ?
(29.2) 3HAAT & foreqa anforsr s Y & 1 AW fafaw |
(29.3) SIUM o Tsh YI@ TG IoH 1 A1 Iy |

(29.4) 3TEATCH HEENR bl YITH § YIMd HETETR H S Tl T8¢ bl AW
forfgu |
(29.5) SIS < Y@ ITY g0 I M TAET |

(29.6) WA HFR ¥ YHEIETR i Sle4 aTell Al qiasd T8t 1 W fafay |
(29.7) GfeAUT SHTERT o ToH TS <N 1 AW ARG |
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SECTION E
Questions number 29 and 30 are Map based Questions.

29. On the given political outline map of the World (on page 21), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. The largest country in Africa

An area of extensive commercial grain farming

A major seaport

A shipping canal

An international airport

3 #2 0D0 QW

The westernmost station of the Australian Trans-Continental

Railway
G. The largest country in South America

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Which is the largest country in Africa ?

(29.2) Name an area of extensive commercial grain farming in

Argentina.
(29.3) Name any one major seaport in Japan.

(29.4) Name the canal that connects the Atlantic Ocean to the Pacific
Ocean in the West.

(29.5) Name a major airport of New Zealand.
(29.6) Name the canal that connects Red Sea to Mediterranean Sea.

(29.7) Name the largest country in South America.

64/1/1 17 P.T.O.
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30. WRA % U T T @I-AHEA (I8 23 W) # ffdiad | diiicrs
AU H | Tohegl grer i IUYh @l gIRI Afehd hITog TR Ieh AW faIRaT : 5x1=5
(30.1) TR SHEEAT Tqcd AT TS

(30.2) 10 TafcoRm & Al SHEEAT 9T WRA &1 Ta gt TR
(30.3) HUTH hT YU IcqTGh TS

(30.4) 3 Yew H foud qa SMed wren

(30.5) dfeHTg o fe¥rd sie 6 @™

(30.6) ofifssn # e yg@ |G 9o

(30.7) ST H feord STaricg oy e

Fieg:  [AEliad Jv7 Fac grEETET gheidEt & g Je7 G&r 30 & T |
g1
eferfaa 7 @ fe=87 giar 941 & 3 a7 5x1=5
(30.1) YT o Hal(eeh SHEEAT TIcd T TS <kl ATH failRgu |
(30.2) HUTH o U IcTTesh TsF vl W faIfEu |

(30.3) IR U H forg TIM W e e feua g 2

(30.4) 10 TferM € 3fUsh SHE@N a7 YA % §&9 Yo TR H1 M
fafau |

(30.5) Wde! dla1 @ frg T | oo @ 2

(30.6) TRl HHE! qoH fohe Tsa | feod 8 2
(30.7) USTE H ST I I fohd T W feda g 2
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30. On the given political outline map of India (on page 23), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state with highest density of population

(30.2) The easternmost city of India having more than 10 million
population

(30.3) The leading cotton producing state
(30.4) Oil Refineries located in Uttar Pradesh
(30.5) Coal mines located in Tamil Nadu
(30.6) Major seaport located in Odisha

(30.7) International Airport located in Punjab

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5xI=5
(30.1) Name the state of India with highest density of population.
(30.2) Name the leading cotton producing state.
(30.3) In which place of Uttar Pradesh are oil refineries located ?

(30.4) Name the easternmost city of India having more than 10 million

population.
(30.5) In what state are the Khetri copper mines located ?
(30.6) In which state is Tuticorin seaport located ?

(30.7) In which place is the international airport of Punjab located ?

64/1/1 19 P.T.O.
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For question no. 30

WA R {ET-UT (TSI TR )
Outline Map of India (Political)

64/1/1
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